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L8-0b s g0 Lolgob 39wgdBo gs8moygByds mMmBsa0 MBSHIMS MMOgY Bodstrormeadoom. dzoMg
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g03Bpsti08me Lsbdgaro Fyaol GybgHgmseo 6 3065-Bg¢mBob, obmeromy®o, gowobotreo
150 & @pzo@mbdoo.

Bgg0MPomom Bmdgdo: HbMZmMmol Bogs @0s8yHO0 D=7,6 8., 3ncowol bodsgeeg - 3,6 3., 390l
Lobdy - 20 bO.

MBocgmemol $6as@odo dmogsgl Bobo doMomseo JeBLEOHdEoadol - 39erob, doMols s
a50sbmMzol g0enols sBasMOBL. @BsGHYoLIwos Lsbryisgol Lsg®ogho - @sdFgmo gMoo 3menmbs 3obE®do
3830¢g@om. 3gEmol, domol @s LabyyMegol 3gEeob Lobdggdo sgoomem ghombsoto 14 1. Lobgol, beogrm
Jmemmbols mBgdo ogbgds g8yt RgHML 33go0 - 0,3x0,3 8, 3830@gal Bmdgdo - 1,6x1,6 8%

3oeobomumo 3gerol sBas®nldo

390l boligy h=0.2 8, gty @osdgymo - D=8 8, Bogs wosBg&mo - D=7,6 8, 39cweol Lodsperg -
L=3,6 8, 3500begez0l gognol oy h=0,2 8.

J9@ol Bas@adobogol ybes ©ogsEanbmne M Lsbols @s@z06mggb0 8mgdyegdb dsbtby. gugbos:

fyamob gggm@omo dmmabmbdsenmo Esfinws, a@mB30b 3nMHoBmbGEO0 330HEom0 Efings,
a®vBEob oo Fobs Y=18,5 36/8°, afbGob Bobsgsbo babybol ooby 9=30%, a®ubob wafimerol



30903060060 k=30 /L@, K=306/b8°=3X 10 BB aevBEob bssbasode ffobawmbds
abeosdgbdol Bmdob @s gzl BsBambgol BmBgdosb gedmdabsmy, Ra. = 406/6% = 400 36/8%
Y6yeob = 10 36/8% 8ofjol @sytob bobgg - 0.7 8, ¢ 349B3gchol OMYBOmO @sfimes 3gogeby qw = 15 36/8%
BoHmBol B-25 Lsfiyolio dpMaembdob neygro Eda = 30000 3s3., Ed=30 335L3.

Lnolb@nmmbdob gsmaserobijobyds - Yi= 1.2.

a3@3bmmz0L Bognsby ©oGZ0MHMZOL asblsbEzMs

iHZoOHNZOL BeatrBogomemn 36/82 Lsodn@mmdol LissBastrodm

olisbgergds 3mz0Eeobdo s¢)30Mogs 36/8°
| dwdogo

@symogno dofob fmbs 13 12 15,6

Lobdoo 0,7 3.

dooBol ggbols 0,1 1,2 0,12

@oH30MHMZS MEOBoR0

asbumzol g3neol 55 12 6.6
feabs 30Bs-dgEmbo |

(0,2+0,02)25
xodo: g=2232
@MHMGHOMO 25 1,2 3

WHHZOBMIZS: OMIO,
| Babo s 3v3amdo
Larn Xaﬁgfﬁo V=12532

sthnofmoas:
@ahgoMog N

30B5-89@mbol Gymamol Bbabiosogdyero a=0,85
Ls5BasmO8m @adzomoggdo (6:b.3.18)

1. 3mGobmbEsmeio (33gMoomo) dsers fywrob
PBy. = YI*Ys* Y§g. *L=1,0"1,2" 10" 3,6 = 43 360.

2. afbEob 3P omo Esfimeral dsens
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Pa®. = Y * Yu (Ya®ub. * Y + qesnge )tg?*(45-9/2)

Y = 1,2 bsodgmmdol 3m9a0a0g6do, Y - a6mBEob gmmeo ffmbs18,5 36/8%, Yu-Lgobdammds
Py, = 1,2 1,2(18,5 % 0,7 +3) * tg?30° = 23 * 0,587 = 8 367 (o> ©@mby).

LosBas®ode afwBHNL @sfmerob dsas domosb (Jagws mby) Y =3,6 + 0,7 =4,3 8.
Po6.=12%12(185 " 4,3 +3)tg?30° = 118,88 * 0,58 = 40 3b.

3Bpat0dl goBamamgde memo Ggdmbgggobogols:

1. GbgMgesthy s6 5oL EagMaEo arMBHN ©d MgolbyIBsEos. 8s%Y 8mdqndl domerme
Lsgegoms@o 3mBEmmdgogdol Fobgdo @b fywol @sfimgns. N=22,32" 8/27 1,2+ L2%1 22252 36" =
=107 +26=133

N=133 36.; Py, =43 3b.

2. ®9%BgM3w960 35G0gwos Fyemobash s Bggbgdmaos aMbGoom.

N=7532*12"8/241,271225*3,6"02=1215+26=1475

N =1475 36. Pw=4035.

35B3LsBE3HMm Lssbrs®o8n Es@Hzehmzgda (Bob. 3.18)

g0sBgs@0dno dumbigo 8mBgbado s ¥sbngo dagrgdo 3gEEol 25@sbvHz0l Bosbosh s domobs
aoasbionsb Bggmmglol s@aowdby.

1. ao@abydzol gowsbomab:

M1 = (P2-P1)/(4a® * L) - [P2/a — (P2-P1)/ 2a?L] / 2a = (43 - 0)/(4 * 0,85° * 3,6) — [43/0,85 - (43 - 0) /2" 0,85
*3,6)/2*0.85=4,86-24,88 = - 20 36.0.

M1 =20 3b.4.

H2 = P2/a - [(P2 — P1)/L]/2a%L = 43 /0,85 — (43 - 0)/3,6]/2* 0,85%* 3,6 = 50,6 — 4,6 = 46

H2 = 46 36.

Bgdmos 339600 paEsbymzol gowalionb:

M3 = [(P2 - P1)/L — P1]/2a® = [(43 - 0)/3,6 — 0}/2 * 0,85% = 10,19/1,45 = 8,27 36.0.

M3 = 8,27 36.8.

H4 = [(P2 - P1)/(2aL — P1)/a = (43— 0)/2 " 0,85 * 3,6/0,85 = 8,3 3b.

H4 = 8,3 3b. (9304ytndo Bob. 3.19).

2. dodob gowsbiosb

d39cs mby doGol BggHogdsborsh



M1 =(P2-P1)/(4a®* L)—[P2/a—(P2-P1)/2a’L/2a=(40-8)/ (4" 0,85°"3,6)-[40/0.85-(40-8)/2
*0,852*3,6]/270,85=3,6—(47 —4,25) =3,6-42,75= -39 36.0.

M1 = - 39 36.8.

H2=P2/a-[(P2-P1)/L]/2a®"L=47,07-2,07 =4535.

H2 =45 36.

sGBsGmob Byekggs 3goaobmgob:

8308 d@BmbBgdob Lssbasmadm Fobsnmds 825-mgal.

Rb = 1,45 36087 (38335%7) Rbt = 0,1 3648 (J0835%9)

5@l bssbga@odm fobspmds Rs = 29,0 36/L3%

356030 daerob Bmddgmgbolist BsduoBsgrem®o @sdgomomgs H2 = 45 36.

s6Bs@m@ol gethomdo As = 45/29 = 1,55 L%

g00Rgam 33B0g 56v) Fhore s@Bsdr@sl 3,5@8-A-I11, g.0. doxo s®ob 300 8. 89350mfjdmm dgEmbol
a58dqrgmdaty 25,

T=b"h0*Rbr=100*16,5"0,1=165

165 > 45 - g.0. 3yl bobdy s s63s@mEob Bg@hggs bmnmdswrr®os.

396303500 s@3s@mob Bgthggs Joemobmgol

8sgLoBseneymo Bunbago dmagb&o M =39 36.0.

MussByg, = 1,2 * 39 = 46,8 36.8,

s®8s@mmol 339mob gemomdo

As=Mmax/Rs *n*h0=39*10°/36570,975*16,5=75

As=7518*

Bgehggomo sthdarts 3ght0geeryymo dxds 8@12-A-11L

BegBs smBsdymms 1 ByBeby 8 gsero @12 88, 12,5 bd-ob dox oo (9,05 LA*-qosb).

8358c1dmon T=b *h0 " Rbf =100 * 16* 0,1 = 165

165> 110, 165> 46

HgbgMaesmob doMol gool sbgsmodo

Jomob 36080 Fomangdl 3gagdol gsbadofs @sfimeraby s Jmaombol @sfrersBy.

30boemsge e 87dmbggal.

5) BvgBago BmBgBEHOLmgal, Gmes M = 20 36.9,, gsd3odsgo dows N = H2 = 46 36., 356030 adfmero
dagms Q=N =133 36.
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d) oo M =39 36.8., N=Hz=45 3b.

Loddmemmms psdamGogndobomgol s8mgimam ghmBghHhosbo Bragrol ggoms s 305bgsMH0dmo
Hmpmeg 30Fo. 830©0y 353030 gdm Bmger @ethomdby. B=100018., H = 2008, h0=165L8., a=a=35

BoBMBob fobswmds B25-0930L Rb = 0,16 36/L0%.

5B el Fobopmds A-I1T gamsbobmgal Lasbastrodm Rs = 3,65 36/L82%

QUssby. = Rbf *h0* b=0,16 " 16,5 * 100 = 264 3b.

264 > 147 36.

3563LsbgOM® 8Bs 5GB5EXIMOL GHOMBO (BOEOSIMO).

As=Mmax/Rs*n*h0=1,2*39"10°/365*0,965" 16,5 = 6,7 Lg%

As=6,7 b

d9z0@Bome 8785 5B @S (Gaosgryo) A-ITT 3ersbol

8212 A-1I1 1 896y 8 oo 36 doxo = 12,5 L.

3mBLEHHdEomms® sgonmo fiHorieo sGHBsdnms @8-A-I11 doxom 30 La.

dotols gamols 636080 gmembol 333oB ol EsyhEbmdol sEFwY
dadob ool Lolgg hdo. = 20 L., dg@mbol EMHgzsEMdOL dneEyeo EB)E. = 30 83s = 3* 107 36/6%.
30mmBol 3sdo@menol @s@omdo F=1,6 * 1,6 = 2,56 8%
39modgEmo U=4"1,6=6,48.
dotols gowes 3056a3608mm, Hrramtg lsbrghen Bmlol gogos, Hrdgerog FqLdgemgdeenos 3menmbol
ayMEBbmBOb SEgowsl. 30bsEGE 58mg3Mam b KOO FOWOEH @ 3056330 08mm. sdmFhog
g0y Bmogbiaros mEbmdo Lo@aob @sdzomemggeo M1 @s Q2 (Bsb. 3.20). 8 vEbmdo LooEygdel
23BLsbrgMmabsmgol glamagdermdo dsqrgdol (@@ 306m3900L) gfmbalfjrmgdol 3Gobiodonom.
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